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𝑛 =
(𝑝)(𝑞)(𝑁)(𝑍2)

𝐸2(𝑁 − 1) + 𝑍2(𝑝)(𝑞)

𝑛 =
(0.50)(0.50)(277,562)(1.96)2

0.052(277,562 − 1) + 4(0.50)(0.50)
= 384 𝑝𝑒𝑟𝑠𝑜𝑛𝑎𝑠



𝑃𝑘 = 𝐸 (𝑍 = 1|𝑋𝑘) =  
𝑒− (𝛽0+𝛽1𝑋1+𝛽2𝑋2+𝛽3𝑋3+𝛽4𝑋4+𝛽5𝑋5+𝛽6𝑋6)

1 + 𝑒− (𝛽0+𝛽1𝑋1+𝛽2𝑋2+𝛽3𝑋3+𝛽4𝑋4+𝛽5𝑋5+𝛽6𝑋6)

β



𝐹(𝑍) =  (
1

√2𝜋
)∫ 𝑒

−𝑍2

2 𝑑𝑧
𝐼𝑖

−∞

β

yi xj

𝑑𝑦𝑖
𝑑𝑥𝑗

= 𝑓(𝑥𝑖
′𝛽)𝛽𝑗









𝑃𝑘 = 𝐸 (𝑍 = 1|𝑋𝑔) =  
e− (2.01+0.73GEN M−0.68ESC−0.47INGF)

1 + e− (2.01+0.73GEN M−0.68ESC−0.47INGF)



𝐹(𝑍) =  (
1

√2𝜋
)∫ 𝑒

− (1.26+0.45𝐺𝐸𝑁 𝑀−0.42𝐸𝑆𝐶−0.29𝐼𝑁𝐺𝐹)2

2 𝑑𝑧
𝐼𝑖

−∞









http://bayes.acs.unt.edu:8083/
https://www.canilec.org.mx/
http://edomexinforma.com.mx/


https://www.fen.org.es/storage/app/uploads/public/5f5/f4c/2d3/5f5f4
https://www.eleconomista.com.mx/empresas/
https://es.statista.com/estadisticas/557179/volumen-de-leche-de-vaca-producida-en


https://expansion.mx/empresas/2017/06/01/



